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For Router R1
en

conf t

hostname R1

interface Serial0

ip address 140.10.2.1 255.255.255.0

no shut

interface TokenRing0

ip address 140.10.1.1 255.255.255.0

ring-speed 4

no shut

exit

router rip

network 140.10.1.0

network 140.10.2.0

end

wr m

sh run

sh ip route

For R2

en

conf t

hostname R2

int s1

ip address 140.10.2.2 255.255.255.0

clock rate 4000000

no shut

int e0

ip address 160.10.1.1 255.255.255.0

no shut

int s0

ip add 160.10.2.1 255.255.255.0

no shut

exit

router rip

network 160.10.2.0

network 160.10.1.0

network 140.10.2.0

end

wr m

sh run

For R6

en

conf t

hostname R6

int s0

ip address 160.10.2.2 255.255.255.0

clock rate 4000000

no shut

int s1

ip add 160.10.3.2 255.255.255.0

clock rate 4000000

no shut

int e0

ip add 160.10.1.2 255.255.255.0

no shut

int e1

ip add 150.10.1.2 255.255.255.0

no shut

exit

router rip

network 160.10.1.0

network 160.10.2.0

network 160.10.3.0

network 150.10.1.0

end

wr m

For R3

en

conf t

hostname R3

int s0

ip add 160.10.3.1 255.255.255.0

no shut

int s1

ip add 160.10.4.1 255.255.255.0

clock rate 4000000

no shut

exit

router rip

network 160.10.4.0

network 160.10.3.0

end

wr m

sh run

Router R5

en

conf t

hostname R5

int s0

ip add 160.10.4.2 255.255.255.0

no shut

int s1

ip add 150.10.2.2 255.255.255.0

clock rate 4000000

no shut

int e0 

ip add 130.10.10.100 255.255.255.0

no shut

exit

router rip

network 130.10.10.0

network 150.10.2.0

network 160.10.4.0

end

wr m

sh run

Router R4

en

conf t 

hostname R4

int s0

ip add 150.10.2.1 255.255.255.0

no shut

int e0

ip address 150.10.1.1 255.255.255.0

no shut

exit

router rip

network 150.10.1.0

network 150.10.2.0

end

wr m

sh run

Graded Questions

1. Suppose R4’s ethernet had the ip address 160.10.10.191/26 and R6’s ethernet link to R4 had the ip address 160.10.10.193/26, would your routing table change?  Justify.

2. If there is a problem in the previous question, how many different ways can you think of to solve it?  If there is no problem ignore this question.  (You will get full points).

3. In step 11, we know that RIP does not support VLSM.  For a poorly designed network, how many ways can you think of to solve this problem?

